
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

2, 371 × ________ = 2371 9, 969 × ________ = 99.69

1, 561 × ________ = 156.1 9, 415 × ________ = 9415

2, 33 × ________ = 23.3 3, 913 × ________ = 391.3

5, 972 × ________ = 5972 5, 069 × ________ = 50.69

3, 287 × ________ = 328.7 2, 39 × ________ = 2390

2, 719 × ________ = 271.9 7, 735 × ________ = 7735

1, 049 × ________ = 1049 4, 967 × ________ = 496.7

7, 633 × ________ = 7633 3, 644 × ________ = 3644

6, 809 × ________ = 680.9 9, 254 × ________ = 92.54

2, 464 × ________ = 2464 9, 778 × ________ = 97.78
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier par des puissances de dix ( nombre
manquant )

2, 371 × 1000 = 2371 9, 969 × 10 = 99.69

1, 561 × 100 = 156.1 9, 415 × 1000 = 9415

2, 33 × 10 = 23.3 3, 913 × 100 = 391.3

5, 972 × 1000 = 5972 5, 069 × 10 = 50.69

3, 287 × 100 = 328.7 2, 39 × 1000 = 2390

2, 719 × 100 = 271.9 7, 735 × 1000 = 7735

1, 049 × 1000 = 1049 4, 967 × 100 = 496.7

7, 633 × 1000 = 7633 3, 644 × 1000 = 3644

6, 809 × 100 = 680.9 9, 254 × 10 = 92.54

2, 464 × 1000 = 2464 9, 778 × 10 = 97.78
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